H
S

a(d cot(0))

H
S
L

—53 -2 -1 0 1 2 3

TP n (PCA to beamline)

) [. :
g [ i
s [ |
© rTief :
© R ;
: ‘|40
4 4
'
102 i :
LU | e pdh
o L.uof !
T F i \
a4 I TP F S T T
095111 -FHAT - FAR =HH AT EEE 2
F i ] f : b
083 T 1 0 1 2 3
TP n (PCA to beamline)
—=— DQM_original_1000evt
—— DQM_fitted4_1000evt
€
e
>
O
=
S

107

-2 -1 0 1 2 3
TP n (PCA to beamline)

o107k
‘(.'5‘ 1_—«»—
14 N
0.9F
o.gé
~ 1=
o [
- L.
D- -
[e)
2 L.
5]

107}

2 1 0 1 2 3
TP n (PCA to beamline)

(0 d) (cm)

107} :

3 -2 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


